FH20W@BHES 22T INT7EFERE ELESERIY— L

BEfER : K2 8FE8A18H (K) = B BHEEI N -2 5T
fFHa—X . #EjRa — X/ AFEEI—R

1F{FEARAZ— b (HEif=—2=R) [eaRE+] 25+ 687 3yard

%H | BERE K 4 SRAE K 4 SRAE K 4 SRAE K 4 FE R MEZEEBR

1| 8:00 2 ot 2 Ll R 2 ML EAE 1 o B 1 LT
fE fE AR fE

2 | 8:08 NN 2 3 m o = 2 wmi Tk 2 SECIREI. 1 N
fE fE fE dekem

3| 8:16 W FE 2 e A5 2 +m GEE 1 N
i i Bis) Ik

(%% +] 74 652 0vyard

4 | 8:24 mA A 3 HI - FHED 3 K W) 2 Bk RA 2 /N
fEHH fEHH Eir dekE

5 | 8:32 WE K 3 gth 3 THE &5 3 IhF B 2 GO
N L fEHH deks J¥s 1L s

6 | 8:40 vEkT R 3 RIK HE 3 Rl R 2 HHOOPEAT 1 KB
j@i#EP 1 ﬁtiﬁ%’—tﬁ‘ fEHEH St

10FARF—b (uEEa—RA) [v84EkT] &7« 628 4vyard

7| 8:00 LRy & A] 3 DA NI SIE N 3 I BEAE 3 YrE 2 Ji
fE fE fEHH fEHH

8 | 8:08 BRI 3 =X )| 2 K FY 3 AR B4 2 H K
fE fE BEEFh F—TF BN

9 | 8:16 fE $d 3 LlgE  ZEA 3 B 3 B
fE AR fEHH

10| 8:24 FIV - A S 3 [ Yia 2 FH OFHIE 2 [ =S
EHEE EHEE fEHEH

B4 ##7 4+ 535 8yard

11| 8:32 REy B4 6 [LIgs Bk 6 Ml HE 5 PEAS HEAREL 6 Wz k
AN =D RN DAEYIN

12 | 8:40 E BEZAT 5 B Eil 5 K 5 I3
FOE /)N AN B /)N

EEFEHE

L. RIEERD DGE. MAEDOEELEET L ENHY F9,

2.0 72 K+ A IFERT B £7T12090-2124-1468 (11111) , X4 BIXEIERECC 0776-73-3311 (JHE/E 528,
3BT AU O — AN AT LET,

4. BERITTOERA

BRI T




